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Q1
b

o _ 0.8 in.
A steel bar of 0.8 x 2.5 in is subject

to a moment M as shown. Find M

— |

that causes the bar to yield. Given M’ M _j
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Q2

A rectangular tube has an ultimate strength
of 60 ksi and dimensions as shown. Find (a)
bending moment M such that factor of safety
is 3, and (b) radius of curvature of the tube
assuming E = 10.6 x 1076 psi
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Q3

The beam shown is acted upon by a moment

M = 3 kNm. Determine the maximum tensile \ ‘
and compressive stress on the beam @
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A-18 (1 of 2)

Part 1 Properties of Sections
A = area

G = location of centroid
I, = J y*dA = second moment of area about x axis

L= J x*dA = second moment of area about y axis

I, = J xy dA = mixed moment of area about x and y axes

JgZJrsz= J(r’+y2)dA=.f,+L

= second polar moment of area about axis through G

k2 = I./A = squared radius of gyration about x axis
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A-18 (2 of 2)
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